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12JIE243 7,128 7,128 0
ORSEMN L 2ZDS AT AH2Y S
1,000& = 3% = 18 » 123 7,128
HAGUSENEZIZOY 2H(JI28X) 233,646 171,784 61,862
| 116,823
= 58,412
Al 58,411
101 1A dl 217,718 159, 184 58,534
| 108,859
< 54,430
Al 54,429
M4 DIt ZE2EXNSES 217,718 159, 184 58,534
OHALESER AIZEA 212l
810,922& * 159 » 12& 145,966
| 72,983
< 36,492
Al 36,491
O3S WEH ¥ FUHE EX3
82,000& = 15Y » 123 14,760
| 7,380
= 3,690
Al 3,690
Os8ZEz 08 2t Ad , usEFAL B4 1,000
| 500
< 250
Al 250
OFAESE At 2l AL el24 ]
1,953,000& * 2% * 12& 46,872
| 23,436
< 11,718
Al 11,718
OFAGSEAAZEIAL nEH £ FUEEX
= 180,000& = 2H = 12& 4,320
| 2,160
= 1,080
Al 1,080
OFLEISEAMAZEIA ASIEER
200,000& = 2¥ « 123 4,800
| 2,400
< 1,200
Al 1,200
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SN A=
=R -PSEEDY

&S FAHMEEXMEH 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 14,928 11,600 3,328
9] 7.464
< 3,732
Al 3,732
01 At 2t 2l 7,828 4,500 3,328
OHLAESUL E28 M 2,500
J| 1,250
< 625
Al 625
O34dE SEX =EH| 5,328
J| 2,664
< 1,332
Al 1,332
03 A2 Z Hl 7,100 7,100 0
OFAEUSEN 2208 29 6,100
J| 3,050
< 1,525
Al 1,525
OFHHIE ZAt==& 250,000& = 43| 1,000
J| 500
< 250
Al 250
301 LEAZ 1,000 1,000 0
J| 500
< 250
Al 250
09 HALAHIX RS 1,000 1,000 0
OseX Ty &It 24 1,000
J| 500
< 250
Al 250
stw & HAE XIS EX) 31,500 33,620 22,120
J| 22,050
Al 9,450
201 2Bt2 Y| 17,690 14,000 3,690
J| 12,383
Al 5,307
01 At 22l 4,000 4,000 0
Oger4gH| 4,000
J| 2,800
Al 1,200
03 A2 Z Hl 13,690 10,000 3,690
OcZzly 22 12,840
J| 8,988
Al 3,852
OtEZH 2l 850
J| 595
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AN ARSI
=R PNEES
Helr FAE4ESTME 29 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 255
301 LetE2H S 13,810 19,620 25,810
J| 9,667
Al 4,143
01 MEI2EZE %06z 10,000 9,000 1,000
OZFEIDIAN & AHS XA S 10,000
J| 7,000
Al 3,000
09 #HALAHIXI& 3 1,500 7,820 26,320
OozZzd AL 24 1,500
J| 1,050
Al 450
12JEEd= 2,310 2,800 A 490
OZEIDA S ANHEASAMI &l XS 2,310
J| 1,617
Al 693
st 5 a4 NA(2AX)OISER) 15,456 0 15,456
J| 7,728
Al 7,728
301 LA F 15,456 0 15,456
J| 7,728
Al 7,728
09 AL HIXI &3 15,456 0 15,456
O & Fad g4 N 15,456
J| 7,728
Al 7,728
HAHSEXAODIZER) 13,000 13,060 A 60
J| 9,100
Al 3,900
301 LA F 13,000 13,060 260
J| 9,100
Al 3,900
01 MI2ZE 6= 13,000 13,060 A 60
OMEXa 30 S(88) 13,000
J| 9,100
Al 3,900
DeDIFAE ¥EY T2 2Y(JHIEX) 50,000 0 50,000
= 25,000
Al 25,000
101 144 dl 3,000 0 3,000
= 1,500
Al 1,500
04 JI2ZtHZ22HEE+ 3,000 0 3,000
ORRINHSH SN BS2T
300,000& = 12! = 100HE 3,000
= 1,500
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AN ARSI
g FaE=sR

Sel: HAUNSSTME 29 (el @2)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al

1,500

201 fEt2E |

18,200

9,100
9,100

18,200

01 AR 2tel

03

O
]
0
S
ot
b
i
A2
o
0
|El
HU
I
02
Ho
02

W

Al

H

Al

9,000
9,000

4,500
4,500

9,200
9,200

4,600
4,600

9,000

9,200

301 €EtE N =

H

Al

28,800

14,400
14,400

28,800

01 A

@
T
0
il
T
&D
0

O
S|
1P
~
0
i

°/gHl s XA

=

09 HAMAHIXES

H
OnAIIFAH

-

o

o
0
|
HU
1
o
oz
2
=
H
0>

W

Al

= 4

26,300
26,300

13,150
13,150

2,500
2,500

1,250
1,250

26,300

2,500

= N H

339, 111
16,378
9,613
313,120

325,241

13,870

HSAHE 243

= M W

339, 111
16,378
9,613
313,120

325,241

13,870

KA SAAE 22 (ZHE2X)

= M

14,200

4,700
9,500

14,200

201 LBt2

= H

12,000

3,600
8,400

12,000

03 A2 EHI
OXESAEEH A 2

= H

12,000
12,000

3,600
8,400

12,000

307 21201 A

= M

2,200

1,100
1,100

2,200

02 HIAHFHAANGEEE

2,200
2,200

2,200
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AN ARSI
g NESAr2e

R XNEANHEH 2435 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
= 1,100
Al 1,100
NS AHE 22 (KMTHS) 152,365 111,783 40,582
101 Q124 H| 28,800 0 28,800
04 JI2ZtHIZ22NEES 28,800 0 28,800
OXNEESAHEH 0S5 E A oAy 28,800
-= 1,970,000& = 1€ » 12& 23,640
-JIEsx4 40,0008 * 1H = 128 480
=] 140,000& * 1¥ = 12& 1,680
— 4R (RE2) 3,000
201 LBt 64,005 64,523 A518
01 AP 22| H| 58,805 60,923 N2,118
OXNIEAMNEEH =SH| 8,000
OX2SAtR s 2FAHH| 200,000 * 403 8,000
ONFZAMME 2gAsg
70,000 * 19¥ * 23| 2,660
OdHZAE 5 L 0222 X =4
740,000 ~ 8Y 5,920
OXNEESAIHEH XEAX
800,000& = 2CH ~ 12& 19,200
OXNEEA =2 o=ss X &
10,000& * 200K 2,000
OXNESAIHEH S22 M
2,000& * 1,5007H 3,000
OXNIEAMNK Jsns WM M=
2,000& * 1,000 2,000
ONEXNIENHSR2YE AR 2
80,000& = 20Xl 1,600
OXNEEAHEYH 2R ZTYU2L0AD] AR
40,000 * 12&€ 480
OXNIEAMNLEH SEHEEHEAAE S E4H| 1,025
-J1SAH(ERZM) 80,000& * 11 880
—ERP(3I HI) 145,000& = 1H 145
OXNZSAEEH L INSAEET(ER1S) O H
CUN =21 50,0008 * 12& 600
OXNJSAIHEH 288D AIES=
60,0008 * 12& 720
OXNASANBIT(ERI1S) 84D AIE22
40,0008 = 12&€ 480
OKXNLLZSALHE SAI(Ze) 9t
260,000 ~ 12€ 3,120
02 Z2=2=24%4| 3,600 3,600 0
ON=ZXSSAAEH A Y| 720
O EAHYH e S34|
120,000 ~ 204 = 12€ 2,880
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AN ARSI
g NESAr2e

o2l T SALHE 2435 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
03 A2 Z Hl 1,600 0 1,600
OStMS A S (Lsh) =X Xt
800,000& = 13l 800
O NASMES =& JX
800,000& = 13l 800
202 Odl 8,800 10,960 22,160
01 = LHA YI 8,800 10,960 A2,160
O SALEEH AJ HEES 0l
100,000& * 6H = 123 7,200
O SAHEE A s Ol
200,000&  89H 1,600
301 LEMZ 38,150 36,300 1,850
12|24 = 38,150 36,300 1,850
ONIASAEEH (B )SAX 2242
11,000& = 15% » 220 36,300
OXNESA 58 X0 2E
18,500& * 100€& 1,850
405 THebH S| 12,610 0 12,610
01 AL 2 ZFH S| 12,610 0 12,610
OXNJASALEE S2XD & #HAN2SE ¢ 12,610
A SAEH X& 78,000 80,000 A 2,000
307 glz2tol & 78,000 80,000 A 2,000
04 DI2HHALAISE E X 18,000 20,000 A 2,000
OX&SA SH0t3CHE & ALl 18,000
11T MISRASEX 60,000 60,000 0
OMItS A8 = XI& 40,0003 » 126%H 128 60,000
NESAA WE 24,790 27,190 A2,400
201 £B-2d| 16,040 18,040 A 2,000
01 At 22/l 3,400 3,400 0
ONJASAHEEH A N=E FIt S5
100,000& * 8%H 800
ONESAEES el & =92 M
100,000& * 53] 500
OXNISAAL BHE 835 MRES
150,000& * 1400 & 2,100
03 A2 Z Hl 12,640 14,640 A2,000
O&FEA4E OILIgE s & At
2,000,000& = 13l 2,000
OXNJSAL HE A= 60,0008 » 42H * 23] 5,040
ONESAt Bogs T2 29|
400,000& » 1404 2 5,600
202 o4dl 600 1,000 A 400
01 = LH o4 1l 600 1,000 A 400
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AN ARSI
g NESAr2e

el U SAHHE 24835t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONMEASALEZ=E bl 300,000& * 24 600
301 LA S 8,150 8,150 0
09 HALAHIXI &3 8,150 8,150 0
Of= & Tt NISAMAL NS Eo=
11,000& * 509 550
OdeSAA 23 & 32 H4AT =4l
8,000& = 100¥ = 43| 3,200
Ot SAtE SAHE2 S S4l
8,000& = 200 =« 23| 3,200
OXNESAHHEH d2UI2ZAL S4H|
8,000& = 30¥ = 53 1,200
A SAE EH3E ALY 37,000 62,000 A 25,000
307 glz2tol & 37,000 62,000 A 25,000
02 QIZtE M AHE X 37,000 37,000 0
OXNESAEHMES MY X 25,000
ONSAEH & XJASAR A== 12,000
d= S NSAMEE It Mdls X 32,756 30,068 2,688
= 16,378
< 4,913
Al 11,465
307 glz2tol & 32,756 30,068 2,688
= 16,378
< 4,913
Al 11,465
06 283 32,756 30,068 2,688
OXNESAH Bt MUIAXIE 32,756
= 16,378
< 4,913
Al 11,465
HHE 2L Z (A=) 1,193,585 1,220,996 AN27,411
= 115,011
J| 186,378
< 24,352
Al 867,844
JlEZ3l 85,100 90,068 A 4,968
JIE23l 85,100 90,068 AN 4,968
201 LBH2E | 38,000 42,608 A 4,608
01 At 22l 38,000 42,608 N 4,608
OJl2 AR 2teltl 6,500
OJle =&l 3,900
O=AERXN 7¢ 100,000& * 26H 2,600
o&uEs ¢ 250,000& = 269 6,500
O0ZHEFEY) 22X 24Hl 740,0008 * 259 18,500




S A2EX
M HM2HAH|(ASEX D)
erel: Jl= 2| (29 a8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
202 o4 | 33,600 34,560 A 960
01 2L I 33,600 34,560 A 960
Ol 2 JI2ge F=80b|
112,000 = 128 x 25 33,600
203 SR F & 8,100 7,500 600
01 JI22HYRFFAH| 3,300 3,300 0
OJ|&8y9g g4y 3,300
04 EASHEIRFEH| 4,800 4,200 600
OFMSY gRF4&H| 400,000 = 12&€ 4,800
204 = 2 4= A H| 5,400 5,400 0
NEEEEEESET 5,400 5,400 0
OXNMI A2+ AY|(2.DF)
450,000 = 12&€ 5,400
olad 2 A Y| 1,108,485 1,130,928 N 22,443
= 115,011
J| 186,378
o= 24,352
Al 782,744
lE 2| (AW P2y J|2) 254,815 231,933 22,882
J| 42,725
Al 212,090
101 e1214| 254,815 231,933 22,882
J| 42,725
Al 212,090
02 JIEtE 2 2= 254,815 231,933 22,882
OFAEE3IO & ol 87,648
-=20 2,583,000 * 12&€ * 2H 61,992
— HHFAH| 140,0008 = 12&€ = 29 3,360
-ARd 145,000& = 128 » 29 3,480
-JIEx4 220,0008 ~ 12& 2,640
—Al2t 2244
19,000€¢ = 16AI2F = 128 = 2H 7,296
— A XS AfH| 80,000& = 7 x 2H 1,120
==l
2,583,000 * 0.6 *x 23| = 2Y 6,200
-&o|2s5E 130,000& * 128 1,560
OMEBEAS A 01| 167,167
-=20 2,515,729 * 4% « 12¢€ 120,755
J| 42,725
Al 78,030
— HHFAH| 140,000 * 4% = 128 6,720
A2t 145,000€ * 4% « 128 6,960
-H &SIt
2,480,000€ * 23] *» 4% * 0.6 11,904
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AN ARSI 0
= HE2G A (AU =X D)
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— GIOtE &HHl 101,000& * 4% » 74 2,828
B ELES
19,000& = 4% = 15A12t = 128 13,680
-&AJI2s5x4 80,000& = 2% * 12& 1,920
-JtEE 200,000& » 12& 2,400
HAEXNZAN BIXIXAODIZ2EX) 30,952 27,644 3,308
b 12,984
Al 17,968
101 @124 dl 30,952 27,644 3,308
| 12,984
Al 17,968
02 JIEH R B+ 30,952 27,644 3,308
OFAUEUEE FAEXE AL Q24| 30,952
-3 1,934,000 » 1H » 128 23,208
| 11,604
Al 11,604
-=SXZ2UE 400
J| 200
Al 200
- Y EFOHI 400,000& = 23| 800
| 400
Al 400
- =4l 140,000& * 123 1,680
| 780
Al 900
—AN2AZ2R2+E 13,3502 * 16AI2t » 128 2,564
-Fosy 145,0002! = 128 1,740
— X2 4| 80,000& » 7 560
ol (FAHNESNME)OIZEX) 85,280 77,960 7,320
| 42,640
Al 42,640
101 14 Hl 85,280 77,960 7,320
J| 42,640
Al 42,640
02 JIEt A 2+ 85,280 77,960 7,320
OSEXNaE Al 85,280
-=0 2,600,000& * 2% = 12& 62,400
J| 31,200
Al 31,200
- Z UG AH| 140,000& = 29 = 12& 3,360
| 1,680
Al 1,680
- AR 145,000& = 2% » 12& 3,480
| 1,740
Al 1,740
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S A2EX
M HM2HAH|(ASEX D)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEFESI
2,600,000& * 23] = 2% x 0.6 6,240
J| 3,120
Al 3,120
— I8 A H| 100,000 = 29 = 7Y 1,400
J| 700
Al 700
B ELES
0,000& = 28 = 15A2t « 12& 7,200
J| 3,600
Al 3,600
-&J2ELE 60,000& * 1 = 128 720
J| 360
Al 360
-JIE4 40,0008 ~ 1H = 128 480
J| 240
Al 240
ClAAY(HEAEMYEXME)(EHEX) 87,912 124,788 N 36,876
= 9,000
Al 78,912
101 21 214| 87,912 124,788 N 36,876
= 9,000
Al 78,912
02 JIEtE 2 % 87,912 124,788 N 36,876
OQatde o1 Ay 87,912
-20 2,650,000& * 2% « 128 63,600
& 9,000
Al 54,600
— HHFAH| 140,0008 = 2% * 12& 3,360
- 145,0008 * 2% = 128 3,480
==l
2,650,000& * 23] *» 2% * 0.6 6,360
— O E At 108,000 = 28 * 7Y 1,512
— N RRAY
19,000& * 2% = 15AI2t « 12& 6,840
-&J2ELE 55,000 * 2 = 12& 1,320
-JIE¢ 60,000 * 2 « 12& 1,440
oleiegyl(stm % HAW X¥) 107,046 112,279 £5,233
J| 71,941
Al 35,105
101 21214| 107,046 112,279 N5,233
J| 71,941
Al 35,105
03 I HLs22 N+ 107,046 112,279 N5,233
O304z =) 2,066,000& * 3% » 12& 74,376
J| 49,072
Al 25,304
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AN ARSI 0
= HE2G A (AU =X D)
chel: ol 2y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZFHZAHI 140,000& = 3% » 12& 5,040
| 3,528
Al 1,512
Ooxgexd 145,000& = 3H » 123 5,220
| 3,654
Al 1,566
OBESE 65,0003 = 3Y¥ » 123 2,340
| 1,638
Al 702
OstuHdEisd N8 MaEE=
200,000& = 39¥ » 12& 7,200
| 5,040
Al 2,160
OCusaE&ATt B4 400
| 280
Al 120
O&FJIZ2403 155,000& » 3H * 23| 930
| 651
Al 279
OF-F=E=, 2,066,000& = 3¥ = 23] x 0.6 7,438
| 5,207
Al 2,231
O=XZAE 400,000 * 3% x 13 1,200
| 840
Al 360
Ons=¢ 80,000& » 12& 960
| 672
Al 288
OHIL S &tH| 92,4703 = 3 » 74 1,942
| 1,359
Al 583
ol YY(FAHSEHNEZIZ N 29) 32,176 28,041 4,135
| 16,088
< 8,044
Al 8,044
101 124 dl 32,176 28,041 4,135
| 16,088
< 8,044
Al 8,044
02 JIEH R 2 2 32,176 28,041 4,135
OFEAESE dYH o] 23,236
J| 11,618
< 5,809
Al 5,809
OFAESER HLM ASIEEE
200,000& = 1H » 123 2,400
| 1,200
< 600
Al 600
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Q2 >
Jy od e
H0 HO Ui

Xl
FZHI (A= X )
& H

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SEEESE 145.0002 = 128 1,740
| 870
< 435
Al 435
OFAEUSEA HLN nsSH &€ FUHE EX
= 170,000& » 198 = 128 2,040
| 1,020
< 510
Al 510
OFALHSEIX SALR =< 2,760
| 1,380
< 690
Al 690
ol 2 A (L oHAIXHE S ALAIE ) 219,415 253,692 N34,277
101 14 dl 219,415 253,692 N34,277
02 JIEt A 2+ 219,415 253,692 N34,277
ONJASAHHE XA HFe2aE 22| 53,973
=0 3,338,000& » 1H » 1228 40,056
-d2=g 3,338,000& * 0.5 » 1H * 23] 3,338
-tE=¢ 40,000& * 1 = 128 480
S EEEEES
12,5002 * 25A12F » 1H » 12& 3,750
- Y EFOHl 3,338,000& = 0.6 * 23| 4,006
—HXEAS
3,338,000 * 0.85 = 1/30 = 7 663
- =4l 140,000& » 19 = 128 1,680
O3 SAHHE HNJ 8F37g4E oA 92,859
-=0 2,835,000 » 2% » 12& 68,040
-d2=g 2,835,000& * 0.5 » 298 «* 23| 5,670
-JtEE 40,000 * 2% = 128 960
—NZe 2L
11,500 = 25AI2F = 29 « 12& 6,900
-EE
2,835,000& * 0.6 » 2% * 23| 6,804
—OXENdS
2,835,000% * 0.85 * 1/30 * 2 * 7 1,125
- =AM 140,000& = 2% * 12& 3,360
ONJSAHHE A 23824 22| 39,328
-= 2,373,000& » 1H » 128 28,476
-d2=g 2,373,000& = 0.5 » 1H * 23] 2,373
-JtE 40,000% * 18 * 123 480
—AN2ZAZ R
10,000 = 25AI2F = 19H » 123 3,000
- EF0Hl
2,373,000& * 0.6 » 1¥ » 23 2,848
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AN ARSI 0
= HE2G A (AU =X D)
Sel: o2y (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—HENS
2,373,000% * 0.85 = 1/30 = 1¥ * 7 471
- 24| 140,000& » 198 = 128 1,680
O3 SAHEE HJ 8F9gaE o] 33,255
-=0 1,970,000& * 1¥ * 123 23,640
-&32=+¢ 1,970,000& = 0.5 » 1&H * 23] 1,970
-IIExE 40,000% * 1H * 123 480
L EE EEE
9,100 = 25A12F « 18 » 123 2,730
- Y= FIH)
1,970,000& * 0.6 » 1H * 23| 2,364
-2
1,970,000 * 0.85 * 1/30 = 1€ * 7L 391
-S4l 140,000& » 1&8 = 12 1,680
TEZARCIHO0IE XA (U 2E) 59,066 57,898 1,168
2 29,533
< 7,308
Al 22,225
101 @124l 59,066 57,898 1,168
= 29,533
< 7,308
Al 22,225
03 RIAHAA2ZZRHE > 59,066 57,898 1,168
OX&ESAH ZCIUIOIH XI&A 59,066
= 29,533
= 7,308
Al 22,225
AEASA2CIUIOIE X2 AF (KR THE ) 18,364 21,890 N 3,526
101 @14 Hl 18,364 21,890 A 3,526
03 RIHAZ 2T E =+ 18,364 21,890 N 3,526
OXEEAL 2CIUIOIH (L s, HaH) Al2tel=g
11,0003 = 2% = 25A12t = 128 6,600
OXNASAH 2LUIOIH AJI2Z2403
2,043,000& * 0.05 = 2% = 23| 409
OXNASAH RCUIOIH AXt=+E
2,043,000% * 0.85 = 1/30 = 7 * 294 811
OXN&SAL RCOUOIH EE+¢
2,043,000& = 0.6 » 2% * 23] 4,904
OXN&SAL ROUIOIH JHE=+E
180,000& » 12& 2,160
OXN&SAL ROUIOIH AR
145,000& = 128 » 29 3,480
QlA2HH (S At ZtelAL 21HH X&) 213,459 194,303 19,156
= 85,478
Al 127,981
101 @124l 213,459 194,303 19,156
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M AT D
= HE2G A (AU =X D)
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 85.478
Al 127,981
03 RIAHAZZ2THE = 213,459 194,303 19,156
OSE At ZlAb 21 2HHI(5Y) 213,459
-Jl2= 2,066,000& » 5% » 12& 123,960
2 61,980
Al 61,980
AlZhel 4
14,3003 = 10AI2t = 5H = 12& 8,580
= 4,290
Al 4,290
-=Z0dl 10,000& = 128 * 5 * 123 7,200
= 3,600
Al 3,600
-EXN30 BY2 L ¥E 293 31,216
= 15,608
Al 15,608
- HAg A 140,000& » 5% 128 8,400
- AR 145,000& = 5H » 123 8,700
-28g 65,000& = 5% * 128 3,900
-JIEg 120,000& = 3H » 123 4,320
- Y EFOHI 1,239,600 * 5% » 23 12,396
- RS FIMHOIASE
92,4703 = 5% « 7 3,237
- ZIES2H0= 154,950 = 53 =« 23| 1,550
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